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ÍÛæ̃ Û¶ÛÛ :   (1) ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä̈ Û ÍÛÁõ”ÛÛ ™öé. 

Instructions :  All questions carry equal marks. 

    (2) ›÷¾Û¨Ûà ¼ÛÛ›ä÷…é þùÉÛÛÙÈÛéÅÛ …×ïõ ¸Ûé¤øÛ ¸ÛóÊ¶Û¶ÛÛ ¸ÛæÁõÛ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 
     Figures to the right indicate full marks of the sub-questions.  

 

1. (a) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 7 

  Answer any two of the following : 

  (1) ïéõ¤øÅÛÛïõ ïõÛ¼ÛÙÜ¶Ûïõ ÍÛ×ýÛÛé›÷¶ÛÛé Ü¶ÛýÛ×ÜªÛ©Û ¸ÛÜÁõ½Ûó¾Û¨Û¶Ûé ÅÛàµÛé ¸ÛóïõÛÉÛ Ü’õýÛÛÉÛàÅÛ©ÛÛ þùÉÛÛÙÈÛé ™öé. 
¦øÛýÛÜºõ¶ÛÛˆÅÛ¶ÛÛ ŠþùÛÐüÁõ¨Û¬Ûà ÍÛ¾Û›ÛÈÛÛé. 

   Certain organic compounds show optical activity due to restricted rotation. 

Explain by taking illustration of Diphenyl. 

  (2) ÍÛàÍÛ-2-¼ýÛä¤øà¶Û¶Ûà ¼ÛóÛé¾Ûà¶Û (Br2) ÍÛÛ¬Ûé¶Ûà ýÛÛé•ÛÉÛàÅÛ ¸ÛóÜ’õýÛÛ¬Ûà ¾ÛÇ©Ûà ¶Ûà¸Û›Ûé þùÉÛÛÙÈÛÛé ©Û¬ÛÛ 
©Ûé¶Ûà Ü’õýÛÛÜÈÛÜµÛ ÍÛ¾Û›ÛÈÛÛé.  

   Indicate the products obtained by addition of bromine (Br2) to Cis-2-butene 

and explain its mechanism. 

  (3) ’éõ¾Û¶ÛÛé Ü¶ÛýÛ¾Û …Û¸ÛÛé. Ü¸ÛóÅÛÛé•Û¶Ûä× ÍÛÛ¾ÛÛ¶ýÛàïõÁõ¨Û ýÛÛé•ýÛ ŠþùÛÐüÁõ¨Û …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé. 
   Give Cram’s rule. Explain Prelog’s generalization by giving suitable 

example. 

  (4) ¶ÛÛˆ¤ÖøÛé›÷¶Û µÛÁõÛÈÛ©ÛÛ ïõÛ¼ÛÙÜ¶Ûïõ ÍÛ×ýÛÛé›÷¶ÛÛé¶ÛÛ …ÈÛïõÛÉÛ ÁõÍÛÛýÛ¨Û¶Ûà ˜Û˜ÛÛÙ ïõÁõÛé. 
   Discuss the Stereochemistry of organic compounds containing Nitrogen. 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 5 

  Answer the following :  

  (1) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÜ’õýÛïõ¶Ûà ÍÛÛ×ÊÅÛéÜÌÛ©Û Š¸ÛýÛÛé•Ûà©ÛÛ Ü’õýÛÛÜÈÛÜµÛ …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé : 
   ÍÛéÅÛéÜ¶ÛýÛ¾Û ¦øÛýÛÛéîÍÛÛˆ¦ø …¬ÛÈÛÛ ÜÅÛ¬ÛàýÛ¾Û …éÅýÛäÜ¾ÛÜ¶ÛýÛ¾Û ÐüÛˆ¦ÖøÛˆ¦ø 
   Discuss the synthetic applications of the following reagent with mechanism : 

   Selenium dioxide or Lithium Aluminium hydride. 

  (2) ¶Ûà˜Ûé¶Ûà ¸ÛóÜ’õýÛÛ¶ÛÛé ÜÍÛ±ùÛ×©Û, Ü’õýÛÛÜÈÛÜµÛ …¶Ûé ÍÛÛ×ÊÅÛéÜÌÛ©Û Š¸ÛýÛÛé•Ûà©ÛÛ ÍÛ¾Û›ÛÈÛÛé : 
   ÐüÛéºõ¾Ûé¶Û ¸ÛóÜ’õýÛÛ …¬ÛÈÛÛ ¦øàÅÍÛ-…ÛÅ¦øÁõ ¸ÛóÜ’õýÛÛ. 
   Discuss the principle, mechanism and synthetic applications of the following 

reaction : 

   Hoffmann reaction or Diels-Alder reaction. 
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 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 2 

  Answer the following in one or two sentences : 

  (1) ¸ÛóÛéÜïõÁõÛÅÛà¤øà …é¤øÅÛé ÉÛä× ? 
   What is Prochirality ? 

  (2) ˆ¶Ûé¶ÉÛàýÛÛé¤øÛȩ́ Ûàïõ …¶Ûé ÐüÛé¾ÛÛé¤øÛȩ́ Ûàïõ ¸ÛÁõ¾ÛÛ¨Ûä …é¤øÅÛé ÉÛä× ? 
   What is Enantiotopic and Homotopic atom ? 

 

2. (a) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 7 
  Answer any two of the following : 

  (1) SN1 ¸ÛóÜ’õýÛÛ¶Ûà Ü’õýÛÛÜÈÛÜµÛ ÍÛ¾Û›ÛÈÛÛé. 

    Explain SN1 reaction mechanism. 

  (2) ïéõ¶®ùÛ¶ÛäÁõÛ•Ûà ÜÈÛÍ¬ÛÛ¸Û¶Û ¸ÛóÜ’õýÛÛ¾ÛÛ× ®ùÛÈÛïõ ©Û¬ÛÛ ¼Ûé̂ ¡ö¶Ûà …ÍÛÁõ ÍÛ¾Û›ÛÈÛÛé. 
    Discuss the effect of solvent and base on Nucleophilic Substitution reaction. 

  (3) E2 ¸ÛóÜ’õýÛÛÜÈÛÜµÛ ÍÛ¾Û›ÛÈÛÛé. 

    Explain E2 reaction mechanism. 

  (4) SN2 ¸ÛóÜ’õýÛÛ¶Ûä× …ÈÛïõÛÉÛ ÁõÍÛÛýÛ¨Û ˜Û˜ÛÛë. 

    Discuss the Stereochemistry of SN2 reaction. 

 (b) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 5 

  Answer any two of the following :  

  (1) O-¼ÛóÛé¾ÛÛé …éÜ¶ÛÍÛÛéÅÛ …¶Ûé m-¼ÛóÛé¾ÛÛé …éÜ¶ÛÍÛÛéÅÛ ÍÛÛé¦øÛ¾ÛÛˆ¦ø ÍÛÛ¬Ûé ¸ÛóÈÛÛÐüà …é¾ÛÛéÜ¶ÛýÛÛ¶Ûà 
ÐüÛ›÷Áõà¾ÛÛ× ºõî©Û …éïõ ›÷ ¶Ûà¸Û›÷ …Û¸Ûé ™öé ÍÛ¾Û›ÛÈÛÛé. 

   Both O-bromo anisole and m-bromo anisole give only one product with 

sodamide in presence of liquid Ammonia. Explain. 

  (2) 2, 4-¦øÛýÛ¶ÛÛˆ¤ÖøÛéîÅÛÛéÁõÛé¼ÛéÜ¶¡ö¶Û 170 °C ©ÛÛ¸Û¾ÛÛ¶Ûé (NH3) …é¾ÛÛéÜ¶ÛýÛÛ ÍÛÛ¬Ûé 2,         
4-¦øÛýÛ¶ÛÛˆ¤ÖøÛé…éÜ¶ÛÅÛà¶Û …Û¸Ûé ™öé, Ü’õýÛÛÜÈÛÜµÛ ÍÛ¾Û›ÛÈÛÛé. 

   2,4-dinitrochlorobenzene with (NH3) ammonia at 170 °C temperature give 2, 

4-dinitroaniline. Explain with mechanism. 

  (3) …éÁõÛé¾Ûé¤øàïõ ÐéüÅÛÛˆ¦ø¶Ûà SN ¸ÛóÜ’õýÛÛ …ÛÅïõàÅÛ ÐéüÅÛÛˆ¦ø¶Ûà SN ¸ÛóÜ’õýÛÛ ïõÁõ©ÛÛ× ÈÛµÛä ¾ÛäÉïéõÅÛ ™öé. 
ÍÛ¾Û›ÛÈÛÛé. 

   Why SN reaction of Aromatic halides is difficult than SN reaction of Alkyl 

halides ? 

 (c)  ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 2 

  Answer the following in one or two sentences : 

  (1) ÐéüÅÛÛˆ¦ø …ÛýÛ¶Û¾ÛÛ× ïéõ¶®ùÛ¶ÛäÁõÛ•Ûà …¶Ûé ¼ÛéÜ¡öïõ©ÛÛ¶ÛÛé Š«ÛÁõ©ÛÛé ’õ¾Û ÅÛ”ÛÛé. 
   Write the decreasing order of halide ions with respect to Nucleophilicity and 

Basicity. 

  (2) ¾ÛÍ¤øÛ¦Ùø ÈÛÛýÛä¶Ûä× ¼Û×µÛÛÁõ¨ÛàýÛ ÍÛæªÛ ÅÛ”ÛÛé. 
   Give structural formula of Mustard gas. 
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3. (a)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 7 

  Answer any two of the following : 

  (1) ¸ÛäÁõÈÛÛÁõ ïõÁõÛé : ÜÍÛ¤ÖøÛÅÛ ¾Ûäî©Û ÉÛè×”ÛÅÛÛÈÛÛÇÛé …ÍÛ×©Ûȩ̀ ©Û …ÛÅ¦øàÐüÛˆ¦ø ÍÛ×ýÛÛé›÷¶Û ™öé. 
   Prove that Citral is Acyclic (open chain) unsaturated aldehyde. 

  (2) α-¤øÜ¸ÛÙ¶ÛàýÛÛéÅÛ¶Ûä× ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé. 
   Give the synthesis of α-terpineol. 

  (3) ïéõ¾ºõÁõ¶Ûä× …ÛéÜîÍÛ¦éø¤øàÈÛ …ÈÛ’õ¾Û¨Û ˜Û˜ÛÛë. 
   Discuss the oxidative degradation of Camphor. 

  (4) ¸ÛäÁõÈÛÛÁõ ïõÁõÛé : β-ïéõÁõÛé¤øà¶Û¾ÛÛ× ÍÛ×ýÛä•¾Û Ü³ù¼Û×µÛ ¸Ûó̈ ÛÛÅÛà ™öé. 
   Prove the presence of conjugated double bond system in β-carotene. 

 (b)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 5 

  Answer any two of the following :  

  (1) ¸ÛäÁõÈÛÛÁõ ïõÁõÛé ïéõ ïõÛéÜ¶Û¶Û α-¸ÛóÛé¸ÛÛˆÅÛ Ü¸Û¸ÛéÁõà¦øà¶Û ÍÛ×ýÛÛé›÷¶Û ™öé. 
   Prove that conine is α-propyl Piperidine compound.  

  (2) Ü¶ÛïõÛé¤øà¶Û¶Ûä× ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé. 
   Give the synthesis of Nicotine. 

  (3) ¸ÛÛ¸ÛÛÈÛÁõà¶Û¶Ûä× ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé. 
   Give the synthesis of Papeverine. 

  (4) ¤ÖøÛȩ́ Ûà¶Û¾ÛÛ× [–CH2 – CH(OH) – CH2–] ÍÛ¾ÛæÐü¶Ûà ÐüÛ›÷Áõà ¸ÛäÁõÈÛÛÁõ ïõÁõÛé. 
   Prove the presence of [–CH2 – CH(OH) – CH2–] group in tropine.  

 (c)  ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 2 

  Answer the following in one or two sentences : 

  (1) ÜÈÛÜÉÛÌ¤ø …ÛˆÍÛÛȩ́ Ûóà¶Û Ü¶ÛýÛ¾Û ÅÛ”ÛÛé. 
   Give special isoprene rule. 

  (2) ¤ÖøÛȩ́ Ûàïõ …éÍÛà¦ø …¶Ûé Ü¶ÛïõÛé¤øà¶Ûàïõ …éÍÛà¦ø¶Ûä× ¼Û×µÛÛÁõ¨ÛàýÛ ÍÛæªÛ …Û¸ÛÛé. 
   Give structural formula of Tropic acid and Nicotinic acid. 

  

4. (a)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ¶ÛÛé ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  Answer any one of the following :  

  (1) (+) ÍÛä’õÛé¡ö¶Ûä× ¼Û×µÛÛÁõ¨Û ¸ÛäÁõÈÛÛÁõ ïõÁõÛé. 
   Prove the structure of (+) Sucrose. 

  (2) (+) ÍÛéÅÛÛé¼ÛÛýÛÛé¡ö¾ÛÛ× C1 – C4 ¼Û×µÛ ¸ÛäÁõÈÛÛÁõ ïõÁõ©Ûà ¸ÛóÜ’õýÛÛ…Ûé ˜Û˜ÛÛë. 
   Discuss the reactions which proves the C1 – C4 linkage present in (+) 

Cellobiose.  

 (b)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : 4 

  Give synthesis of any two of the following : 

  (1) …é¦éø¶ÛÛˆ¶Û 
   Adenine 

  (2) ÍÛÛýÛ¤øÛéÍÛà¶Û 
   Cytosine 

  (3) ¬ÛÛýÛ¾Ûà¶Û 
   Thymine 
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 (c)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé …éïõ¶ÛÛé ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  Answer any one of the following : 

  (1) ÜÈÛ¤øÛ¾Ûà¶Û – B6 (Ü¸ÛÜÁõ¦øÛéïõÍÛà¶Û)¶Ûä× ¼Û×µÛÛÁõ¨Û ¸ÛäÁõÈÛÛÁõ ïõÁõÛé. 
   Prove the structure of Vitamin – B6 (Pyridoxine) 

  (2) ÜÈÛ¤øÛ¾Ûà¶Û – A (ÁéõÜ¤ø¶ÛÛéÅÛ)¶Ûä× ¼Û×µÛÛÁõ¨Û ¸ÛäÁõÈÛÛÁõ ïõÁõÛé. 
   Prove the structure of Vitamin – A (Retinol) 

 (d)  ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 2 

  Answer the following in one or two sentences : 

  (1) ÍÛä’õÛé¡ö ©Û¬ÛÛ ¾ÛÛÅ¤øÛé¡ö¶Ûä× ›÷ÇÜÈÛ½ÛÛ›÷¶Û ïõýÛÛ Š©ÍÛé̃ Ûïõ ÈÛ¦éø ¬ÛÛýÛ ™öé ? 
   By which enzyme hydrolysis of Sucrose and Maltose takes place ? 

  (2) ¸ýÛäÁõÛˆ¶Û¶Ûä× (Purine) ¼Û×µÛÛÁõ¨ÛàýÛ ÍÛæªÛ ÅÛ”ÛÛé. 
   Give structural formula of Purine. 

  

5. (a)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  Answer any two of the following : 

  (1) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : ïõÛé¶•ÛÛé Áéõ¦ø 
   Give synthesis of : Congo Red 

  (2) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : …éÅÛà¡öÁõà¶Û 
   Give synthesis of : Alizarin 

  (3) ÍÛÜ’õýÛ Á×õ•ÛïõÛé ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write a note on Reactive Dyes. 

 (b)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  Answer any two of the following : 

  (1) ïéõ¾ÛÛé¬ÛéÁõÛ¸Ûà ¸ÛÁõ ¶ÛÛêµÛ ÅÛ”ÛÛé. 
   Write a note on Chemotherapy. 

  (2) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : ÍÛÅºõÛ¬ÛÛýÛé¡öÛéÅÛ 
   Give synthesis of : Sulphathiazole. 

  (3) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : P-…éÜ¾Û¶ÛÛé ÍÛéÅÛàÍÛàÅÛàïõ …éÍÛà¦ø (PAS) 
   Give synthesis of : P-amino salicylic acid (PAS) 

 (c)  ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 4 

  Answer any two of the following : 

  (1) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : ¤Öéø¤øàÅÛ 
   Give synthesis of : Tetryl 

  (2) ÍÛ×ÊÅÛéÌÛ¨Û …Û¸ÛÛé : ¸ÛéÁõÛ¬ÛÛýÛÛé¶Û 
   Give synthesis of : Parathion 

  (3) ›×÷©Ûä¶ÛÛÉÛïõÛé …é¤øÅÛé ÉÛä× ? ©Ûé¾Û¶Ûä× ÈÛ•ÛâïõÁõ¨Û …Û¸ÛÛé. 
   What are Pesticides ? Give its classification. 

 (d)  ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : 2 

  Answer the following in one or two sentences :  

  (1) ÉÛÛ×Ü©Û¸ÛóéÁõïõ …ÛíéÌÛµÛÛé¶ÛÛ× ¼Ûé ŠþùÛÐüÁõ¨Û …Û¸ÛÛé. 
   Give two examples of Tranquilizers. 

  (2) ¾ÛÛé¦Ùø¶¤ø Á×õ•ÛïõÛé …é¤øÅÛé ÉÛä× ? 
   What are Mordant dyes ? 

__________ 


